Disassembly Instructions

global B4R

Reception Desk
Bow/Straight

/2460RDB
£2466RDB
£2472RDB
£2484RDB
£2496RDB

Z3060RDB 72460RDS  Z3060RDS
Z3066RDB 72466RDS  73066RDS
Z3072RDB - 72472RDS  73072RDS
Z3084RDB 72484RDS  73084RDS
Z3096RDB - 72496RDS  Z3096RDS

TOOLS REQUIRED

S~

WRENCH
Size #16 or 5/8”

=
PHILLIPS

Screwdriver size #2

O

Rubber Mallet

Safety Glasses

S

ALLEN KEY
Size #5

ITEM | DESCRIPTION QUANTITIES MATERIAL

1 TOP 1 PARTICLEBOARD
2 GABLE 2 PARTICLEBOARD
3 TT SUPPORT 2 PARTICLEBOARD
4 SIDE CLADDING 2 PARTICLEBOARD
5 BACK 1 PARTICLEBOARD
6 TRANSITIONAL TOP 1 PARTICLEBOARD
7 CLADDING 3 ALUMINIUM

8 GROMMET 1 PLASTIC

9 LEVELER 6 STEEL/PLASTIC
10 | SCREWS/BOLTS 85 STEEL

STEPS

rev: 00

Trasitional top.

Lois46

connectors.

G pull up Cladding Panels
® Unscrew and remove bolts and plastic

A) Untighten Blum Connectors and released

Please contact Global Customer Care at 905-660-5101 for any questions or concerns.

® Unscrew and remove bolts and plastic
connectors from back panel.

(E ) Untighten Blum Connectors, unscrew bolt
using Alen Key and release Side Cladding and TT
Support panel.

O 1urn unit. Untighten Blum Connectors and
release Top and Gables. Remove Blum Bolts and
Levelers.

NOTE: Any alterations to listed components will void the manufacturer’s warranty. The manufacturer will not be responsible for any damage or bodily harm caused by alterations in accordance with national or local
electrical codes and manufacturer’s specifications. In accordance with the manufacturer’s policy of continual product improvement, the product presented in this document is subject to change without notice or obligation.

Printed in Canada

ZDIS46 Rev.00 Pg1of3




CLIP OFF

AS SHOWN
1 N
.
7’
7
/

Printed in Canada ZDIS46 Rev.00 Pg2of3



FOR SAFETY :TWO
PEOPLE REQUIRED
FORTHIS STEP

Middle Gable For

UNITS 96” WIDE:
72496RDB
73096RDB
72496RDS
73096RDS

Printed in Canada ZDIS46 Rev.00 Pg3of3



ZIRA

global Ikl R R R
High Reception Return THEOHRRLR T20MSHRLR  T460LRRLR Z2048LRRLR 2000 72PR LR 22036, SATSRLR
Transactional Bow R. R. IUTIHRRLR  Z0SHHRRL/R  Z472URRLR  Z20S4LRRL/R %ggg ;gg Z’; Z;ﬁg;’g’; Z/;
Transactional Straight R. R. v o

Disassembly Instructions 250 FASHRRL

TOOLS REQUIRED
Sha

WRENCH
Size #16 or 5/8”

=
PHILLIPS

Screwdriver size #2

O

Rubber Mallet

Safety Glasses

S

ALLEN KEY
Size #5 ,“
=

ITEM | DESCRIPTION QUANTITIES MATERIAL

1 TOP 1 1 1 1 1 1 PARTICLEBOARD

2 GABLE 1 1 1 1 1 1 PARTICLEBOARD

3 MODESTY PANEL 2 1 2 1 2 1 PARTICLEBOARD

4 KICKBASE 2 1 2 1 2 1 PARTICLEBOARD

5 GROMMET 1 1 1 1 1 1 PLASTIC

6 LEVELER 6 4 4 4 4 4 STEEL/PLASTIC

7 BRACKETS 2 2 2 2 2 2 STEEL

8 SCREWS/BOLTS 31 26 31 26 38 32 STEEL

9 TRANSACTIONAL TOP 1 1 PARTICLEBOARD

Please contact Global Customer Care at 905-660-5101 for any questions or concerns.

i @ Unscrew and remove brackets and bolts, ® Turn unit. Untighten Blum Connectors.

rev: 00

De-attach unit from Reception desk. Unscrew and remove kickbase.

O For Transactional Bow or Straight Return: (D) Untighten Blum Connectors and release Top
i Untighten Blum Connectors and release and Gables. Remove Blum Bolts and Levelers.
i Transactional Top.

Los47

NOTE: Any alterations to listed components will void the manufacturer’s warranty. The manufacturer will not be responsible for any damage or bodily harm caused by alterations in accordance with national or local
electrical codes and manufacturer’s specifications. In accordance with the manufacturer’s policy of continual product improvement, the product presented in this document is subject to change without notice or obligation.

Printed in Canada ZDIS47 Rev.00 Pg1of3



Printed in Canada ZDIS47 Rev.00 Pg3of3



B,

TRANSACTION BOW TOP
OR
TRANSACTION STRAIGHT TOP

FOR SAFETY :TWO |
PEOPLE REQUIRED |
FORTHISSTEP |

Printed in Canada ZDIS47 Rev.00 Pg2of3




Lois48

ZIRA

global

rev: 00

Z2072PRRL/R - Z2054PRR L/R
. . L2472PRRL/R - Z2060PRR L/R
Pigeon Hole Reception Return THSIRRLR
/2460PRR /R
Disassembly Instructions
TOOLS REQUIRED
WRENCH
Size #16 or 5/8"
i =
PHILLIPS
Screwdriver size #2
Rubber Mallet
Safety Glasses
ALLEN KEY
Size #5
ITEM | DESCRIPTION QUANTITIES MATERIAL
1 TOP 1 1 PARTICLEBOARD
2 GABLE 1 1 PARTICLEBOARD
3 MODESTY PANEL 2 1 PARTICLEBOARD
4 KICKBASE 2 1 PARTICLEBOARD
5 GROMMET 1 1 PLASTIC
6 LEVELER 6 4 STEEL/PLASTIC
7 BRACKETS 2 2 STEEL
8 SCREWS/BOLTS 49 47 STEEL
9 PINGEON HOLE 1 1 PARTICLEBOARD
Please contact Global Customer Care at 905-660-5101 for any questions or concerns.
STEPS

Q Unscrew and remove brackets and bolts,
De-attach unit from Reception desk.

® Unscrew and de-attach Pigeon Hole
from unit.

®@on Pigeon Hole,Untighten MiniFix Connectors

and release Pigeon’s Top. Untighten Blum
Connectors and release Pigeon Hole Divider.

Unscrew MiniFix and Blum Bolts.

® Turn unit. Untighten Blum Connectors.
Unscrew and remove kickbase.

(E ] Untighten Blum Connectors and release Top
and Gables. Remove Blum Bolts and Levelers.

NOTE: Any alterations to listed components will void the manufacturer’s warranty. The manufacturer will not be responsible for any damage or bodily harm caused by alterations in accordance with national or local

electrical codes and manufacturer’s specifications. In accordance with the manufacturer’s policy of continual product improvement, the product presented in this document is subject to change without notice or obligation.

Printed in Canada

ZDIS48 Rev.00 Pg1of3




FOR SAFETY :TWO
PEOPLE REQUIRED
FORTHIS STEP

Blum Bolt

Pg3of3

ZDIS 48 Rev.00

Printed in Canada



MiniFix

MiniFi Bolt

Blum Connector

Printed in Canada ZDIS48 Rev.00 Pg2of3



ZIRA

g | O ba | Z1260BRRL/R  Z1236BRRL/R

Disassembly Instructions

Bookcase Reception Return Z1272BRRL/R - Z1242BRRL/R

Z1248BRR L/R
Z1254BRRL/R

rev: 00

Lois49

TOOLS REQUIRED
Sha

WRENCH
Size #16 or 5/8”

=
PHILLIPS

Screwdriver size #2

s o

Rubber Mallet

Safety Glasses

ALLEN KEY
Size #5

ITEM |DESCRIPTION QUANTITIES MATERIAL

1 TOP 1 1 PARTICLEBOARD

2 GABLE 1 1 PARTICLEBOARD

3 MODESTY PANEL 2 1 PARTICLEBOARD

4 KICKBASE 2 1 PARTICLEBOARD

5 GROMMET 1 1 PLASTIC

6 LEVELER 6 6 STEEL/PLASTIC

7 BRACKETS 2 2 STEEL

8 SCREWS/BOLTS 47 42 STEEL

9 BOTTOM 1 1 PARTICLEBOARD

10 SHELF 1 1 PARTICLEBOARD

11 SIDE 1 1 PARTICLEBOARD
2 KICKBASE BOOKCASE 1 1 PARTICLEBOARD

Please contact Global Customer Care at 905-660-5101 for any questions or concerns.

STEPS

O Unscrew and remove brackets and bolts, ® Untighten Blum Connectors. Unscrew and

De-attach unit from Reception desk. remove kickbase.

® Turn unit. Unscrew and remove Kickbase (E ] Untighten Blum Connectors and release Top

Bookcase. and Gables. Remove Blum Bolts and Levelers.

C) Untighten Rafix Connectors and release Shelf.
Untighten Blum Connectors and release Side
Panel.

NOTE: Any alterations to listed components will void the manufacturer’s warranty. The manufacturer will not be responsible for any damage or bodily harm caused by alterations in accordance with national or local
electrical codes and manufacturer’s specifications. In accordance with the manufacturer’s policy of continual product improvement, the product presented in this document is subject to change without notice or obligation.

Printed in Canada ZDIS49 Rev.00 Pg1of3




Blum Bolt

Pg3of3

ZDIS49 Rev.00

Printed in Canada



FOR SAFETY :TWO
PEOPLE REQUIRED

FORTHIS STEP

)b

Blum Connector

Pg2of3

ZDIS 49 Rev.00

Printed in Canada



	Zdis_46_Reception_Desk
	Zdis_47_Reception_Return_Low_High_Transactional
	Zdis_48_Reception_Return_Pigeon_Hole
	Zdis_49_Reception_Return_Bookcase

